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First Group

1) Without using calculator find the value of: log, 48 — log, 12 + log, 4

2) If log,x = 4, then find the value of log,x

3) Find: 1M " i

X2 [x6 +2

. 5
. Lim x>—32
4) Find: x—2 xz_—4

5) Solve A LMN in which | =9 cm, m =7 cm and n =11 cm.

Second Group

1) Without using calculator find the value of: logg 100 — logg 25 + logg 2

2) If log,x = 3, then find the value of log,x

. ; 2x3-7
3) Find: xg“g,
x2 +5

. . Lim x’-128
4) Find: X2 5_32

5) Solve A LMN in which | =15 cm, m =18 cm and n =13 cm.
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Third Group

1) Without using calculator find the value of: log, 144 — logs 12 + logg 3
2) Iflog,x = 2, then find the value of log,x

. ; 2x3-3
3) Find: ,11 i g

. . Lim x°-64
4) Find: x-2 7A_q16

5) Solve A LMN in which | =6 cm, m =10 cm and n =12 cm.
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